P.A. T.

PI-LOGK

BliLIZLFxOax7 45— (EREHER)

Non-Thread Flexible Connector

INMT+TLF

P F

AT % B
@ Name of Parts Material
@ | 350 7DC.ZAS
am o (7 me
d | ’ GLAND NUT
S—YLGyLy
) ® | SEALNG RING pve
TS s
@ | GROUNDING GoNE | SPCE
ty FEX
Al free—=—- - —1 < ® | Set screw SUs
E
B (c)
(L)
. o . £y FEZ ZERe | 2R/1E
#1487 No. N T . 7LFHA4X A B © D E L Set Screw *g(EE' b
) 2 | Wt/Pc
Catalog No. Size (mm) (mm) (mm) (mm) (mm) (mm) N = Std.Pkg (8
P4 X HE
PF-16 16 1/2" 33 27 19 21.3 11 46 M5X8 1 80 84
PF-22 22 3/4" 40 27 22 26.8 | 125 49 M5X8 1 50 119
PF-28 28 1" 47 28.5 23 33.6 13 51.5 | M5X10 1 35 158
PF-36 36 11/4" 59 36 29 42.5 15 65 M5X10 2 50 313
PF-42 42 11/2" 66 40 34 48.2 17 74 M5X10 2 40 402
PF-54 54 2" 79 47 41 60 18.5 88 M6X10 2 20 671
PF-70 70 21/2" 97 46 46 75.7 27 91 M6X10 2 15 920
PF-82 82 3" 113 59 56 88.4 3il 114 M6X12 2 5) 1,469

MIXFULZBBUCEALE L TEBHVEDE L E S,
#O2- 104 FEFEERELVET,

OBz ehl) R - ZOMOBHARIE. FELCERTIHBENHNETOTHOPULHITHELIZEL,



